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QUESTION 1

An architect is tasked with designing a new VMware Cloud Foundation environment. The company will purchase vSAN
Ready Nodes for the management cluster but wants to make use of existing investments where possible, including a
significant investment made recently in an all-flash storage array and 16GB FC fabric. The design must include this
array wherever possible.

The company wishes to reuse existing ToR switching that will provide four 10GPs Ethernet connection to each host and
one 1Gbps out of band connection. The network will be a standard spine and leaf topology with no layer-2 shared
between racks of infrastructure. The ToR switches are each connected to 4 spine switches, with one 10Gbps
connection. The clusters must be spread across at-least four racks to ensure maximum resiliency.

Which two constraints impact this design? (Choose two )

A. The use of an existing storage array.

B. VMFS does not support FC SAN with VMware Cloud Foundation

C. More than one availability design is needed.

D. The management domain must be contained within one rack.

E. A spine and leaf topology is used.

Correct Answer: AD

QUESTION 2

For which VLAN must a DHCP server be configured prior to performing the VMware Cloud Foundation bring up
process?

A. NSX-TEdge Overlay
B. Management

C. NSX-T host Overlay
D. NSX-T Host

Correct Answer: C

QUESTION 3

An administrator is tasked with deploying a new workload domain into an existing VMware Cloud Foundation
environment. Which two storage types are supported? (Choose two.)

A. NFS v2
B. VMFS on iSCSI

C. vSAN
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D. SMB3.0
E. VMFS on FC

Correct Answer: BD

QUESTION 4

Which twoPasswordManagement options are available forpasswordsthat are locallymanage medwithin VMware SDDC
Manager? (Choose two.)

A. Reset
B. Update
C. Rotate
D. Change
E. Replace

Correct Answer: BC

QUESTION 5

An Enhanced Linked Mode of vCenter Server is being used to easily log in to every vCenter Server instance How many
vCenter Server instances in a single vCenter Single Sign-On domain are supported?

A. 15
B. 16
C.7
D.8

Correct Answer: A
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